WILDRIDGE,

PURVEYORS OF QUALITY POLY FURNITUR

330-893-4212 « www.wildridge.com

SINGLE SIGNATURE GLIDER

ASSEMBLY INSTRUCTIONS

LCC-406

Required Tools:

- Mallet/Non Marring Hammer
(Do not use Metal Headed Hammer)

- Cordless Dirill
-1/2"&9/16 Wrench or Socket

Hardware:

- (8)5/16"x 3" Lag Bolts

- (2) 5/16"x 3" Carriage Bolts
-(4)5/16"x 3 1/2" Carriage Bolts
- (4) 5/16”x 5" Carriage Bolts
-(10) 5/16" Flange Nuts

-(8) 5/16" Washers

-(8) 3/8"x 2 1/2" Machine Bolts
- (8) 3/8" Lock Nuts

- (16) 3/8"Washers

- (4) Glider Brackets

PartS'
= (1) Seat

B (1) Backrest

C=(2) Arm/Leg Assemblies

D = (2) Base Pieces

E=

= (2) Cross Members

\_/vv

—

(1) 5/16” x 3”Bolts &
(1) 5/16” Flange Nuts

(2) 5/16" x
3 1/2”Bolts
&(2) 5/16”
Flange Nuts

————

————

~~~~~ 2)
5/16" x
5" Bolts &
(2) 5/16"
Flange
Nuts

‘‘‘‘‘

Step 1

On a soft surface, place the seat (A) onto its side. Position the back-
rest (B) inside the seat as shown. Lay an arm/let assembly (note:
left and right) into place and fasten to the seat and backrest using
(2)5/16 x 5 and (2) 5/6 x 3 1/2 bolts and (1) 5/16x3, (5) 5/16 flange
nuts. Repeat on other side.

(v

ote: The holes at the top of both the bases are for the glider brackets in Step 3

Step 2

Assemble the base as shown with (8) 5/16 x 3 lag bolts and (8)
5/16 washers through holes provided in base (D) and into pilot
holes in cross members (E) Note: turn block out.

© 2020



WILDRIDGE@ ASSEMBLY INSTRUCTIONS

PURVEYORS OF QUALITY POLY FURNITUR

SINGLE SIGNATURE GLIDER LCC-406
330-893-4212 « www.wildridge.com

(
- .
Step 3 Step 4

Using (4) 3/8 x 2 1/2 machine bolts and (4) 3/8 lock nuts and (8)
3/8 washers attach all four gliders to the base.

To attach one of the gliders, first slide washer onto a machine bolt,
then slide it through 3/8 hole provided (from the inside of the
base), add another washer then add a glider bracket onto the bolt
with the curve turned away from the base, as shown, then add a
3/8 locknut and tighten.

Using (4) 3/8 x 2 1/2 machine bolts and (4) 3/8 lock nuts and (8)
3/8 washers attach each legs to a glider bracket.
Your glider is now complete.

Thank you for purchasing from Wildridge.

© 2020



